291 1,35~

2,3-

E+n

x 10"

E+3

)-1,3,5-

x 1000

-2,4,6(1H,3H,5H)-

30

(kg/ )

(kg/ )

1.2E+3

1,200.0

1,200.0

4.8E+3

4,820.0

4,820.0

Olo|N|ojo|~|lw|N]|F-

3.0E+2

300.0

300.0

=
o

19E+3

1,900.0

1,900.0

[N
[N

5.2E+3

5,204.0

5,204.0

=
N

6.8E+2

680.0

680.0

[N
w

15E+1

3.1E+3

3,135.0

3,135.0

=
SN

[N
(8]

=
»

5.1E+2

510.0

510.0

[N
-~

=
(o]

[N
[{e]

5.0E+2

500.0

500.0

N
o

2.0E-1

1.1E+1

112

2.0E+3

2,000.0

2,011.2

N
[

2.2E+3

2,200.0

2,200.0

N
N

N
w

1.8E+1

18.0

18.0

N
S

4.8E+2

483.0

483.0

]
al

8.3E+1

74E+2

823.2

823.2

N
»

N
-~

N
©

N
[{e]

w
o

w
-

w
N

w
w

w
S

w
a1

4.2E+4

42,000.0

42,000.0

w
»

w
~

w
©

w
o

iy
o

N
=

S
N

I
@

N
SN

IS
ol

N
»

N
k]

2.0E-1

1.1E+1

112

9.8E+1

6.6E+4

65,773.2

65,784.4

[
A

(

)




